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122 (1) CeHy + (15/2)0, — 6CO, + 3H,O

(2) ~ADERIZ BB, 3X(-290)+6X(-390) = 50=-3260 kJ/mol
(~NADERIRRISRADE 2 FITEBRILFOBLFELRETH D, Lz 21—
HECEETDHIL,)

123 AU = @ = nCynx(T-T))

124 AU=AH - PAV = nCp o x(To-T; )-P(Vs-V))
PVi=nRT), PVo=nRT, £V P(Vo-V))=nR(T+-T)) EX5iZn=10
Lo T AU=Cypm x(To-T) -R(T>-T1) = (Cp.m—R) *(To~T}) = 3/2xR(T>-T})

R25 AU=AH-pAV=40.7k] - p(V(R) - V(iK))
K[IEDOETE V(K)= 224LX(373/273)=3.06 X107 m’
RIEOEE VIR)=18mL L - T VR - MK = MX)
AU=AH - pAV=40.7kJ —1.01 X10°Pa X 3.06 X10°m’=40.7kJ-3.10kJ =37.6kJ

fiz2e (1) [EOREFEALY T'=240K
(2) -w=nRTIn (We/Va) LY w=2.3kd
(8) AS=QT=wT=nRIn (V2/V1) =9.6JK!
(4) prViv=peVor X ¥ 1x106x(1x103)y = 0.1x106x(1x4x103)y
1=0.1x4y 2yln2=1n10 y=1.66...

27 () BEAOKLEFA VT AS=20J/K
@) pVWTi=pVa/Te £V pi/pe=VaT/( ViTe) =3.0
3) MEBORXEH WD, CGm=Cn+t R BLOQ O&FERp/ p=Ve/ Vi=3.0 L HW
5, AS =20J/K (EEMEZ->THASIHA LEE725.)
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(1) pa= p na/(na+ns)  ps= p ns/(na+np)
(2) ASa = naR In [(na+ng)/nal

(1) pAV=nRAT=3.0X104%X8.3X102=25X103J

(2) AH = J’E’ nC. dT =1.0%21 x(600 - 300) = 6.3X103J

p.m

MEAH =AU+ pAV=3/2nRAT + pAV=3.7X10%+ 2.5 X103=6.2X103J
(3) AS=nCp. mIn (T2/T1) = 1.0X 21 X 1In (600/300) = 14.5... = 15 JK-

(1DAG=AH-TAS AG=0
(2) AS=6.0x103/273 =22 J/K AG=0

(1) AS 4 =4.2 x 100 = In (350/293) = 74.6 T K™’
(2) Q=-4.2 %100 x (350-293) =—23940]  AS gy, = QO /T =—23940/350 = 68.4 JK™'
(3)AS 4 +AS g =62TJK"' (>0) ZOEIIARTEBETH B,

T < 4 > o< T < ZF >

AG=AH — TAS = - 4.1X105-300X75=-4.3X105J,
AG DED AT O THREBIZED,



